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oh=o|H HY del2| H| &4 13,000 1 13,000 11,700
Ao TAM HIZ M= 020 £E ot ek @ 12,000 1 12,000 10,800
J2fM OfHEO| Mt a: L2[F felsel  [2HAE 13,000 1 13,000 11,700
L oM X &0 X AN 2R ({25 PI=HSRA 13,500 1 13,500 12,150
sid 23 9 del2| H|E 4 13,000 1 13,000 11,700
ES e =0 E PI=HS2A 18,800 1 18,800 16,920
OFZ0[=Fud Mg gA7229 16,800 1 16,800 15,120
HE =g Mg gA7229 16,800 1 16,800 15,120
REFH XF X[AE Z[Mel EHEA 18,000 1 18,000 16,200
CHeer &, Chetoh & ks = eLgm 15,500 1 15,500 13,950
Zdo| 0|52 29 &t ojztet |mA”SIRA 14,000 | 1 14,000 12,600
L =2 SR &7 22 FLO{ZBA 13,000 1 13,000 11,700
AMNAZR EH2 4 O|Agt AkSt 18,000 1 18,000 16,200
o E1t 7H2 AtO H=7| SHE 13,000 | 1 13,000 11,700
ALO|Ct Mol H|E &4 aAd=z LE290l& | 17,000 [ 1 17,000 15,300
CHRE A B a4 L2 20l 14,000 | 1 14,000 12,600
oloj& dE EgakS ol 13,000 | 1 13,000 11,700
HECHOI M EHH Ol SiZl FEAMSE B {7t Lo Elol & 18,000 | 1 18,000 16,200
o otOLC| HStAL Bl E U HEkAto||QtaH HMIjolHrE | 13,000 | 1 13,000 11,700
Oldet & BI=2h0|EF @M5tn Il A 0|E Z2[{sEFLA | 17,000 [ 1 17,000 15,300
welel & Al 0] of S 2L 12,000 [ 1 12,000 10,800
(A JSHA =2tFe) 555 MY 24X ga02t9 14500 | 1 14,500 13,050
25 Ofe R|0fA Yojet & o2zl 28 |2at=sU 15,000 | 1 15,000 13,500
=85, O{C|77kX] OfL? 4878 nefotEsg 12,000 | 1 12,000 10,800
OfCrL 2 ok 7 M= 8i0] = EEHH 4T 15,000 [ 1 15,000 13,500
A7 230l i Y Y2 By 15,000 | 1 15,000 13,500
L2 gt 2ES O &u =t 15,000 [ 1 15,000 13,500
FHO|7F Ar2pR Lt d+=4 EQIE0{2I0l 12,000 | 1 12,000 10,800
171 Ha O F Moty A A |EeM <2|g 14,000 [ 1 14,000 12,600
FHAE BHol 2% BtH 71| O|Md 3 8t2A 12,000 | 1 12,000 10,800
HAE BHol =% Bt 74A 2 O|Md 3 8t2A 12,000 | 1 12,000 10,800
HRIE AtEet 10| efiLt Ml | EEEEA [ 14,000 | 1 14,000 12,600
=5 0kA| o gmi oM 7] 14,000 | 1 14,000 12,600
SHEHL d24 st7{efotol§ 13,000 | 1 13,000 11,700
i oo g el SEalS] Zefe 16,000 [ 1 16,000 14,400
7|1X L g oz (E7)d 12,000 | 1 12,000 10,800
L7} 2tHE S StMI7tet 240240[0F7| | 16,000 | 1 16,000 14,400
=0k Bt T 2Ot HEEEA| ELE 10,000 | 1 10,000 9,000
A 2 A ARREXIX] gfote 2L & (CHE 11,000 [ 1 11,000 9,900




73 |30 7t AZ 2ol Sl 12,000 [ 1 12,000 10,800
74 |7|= 3H oM E Rl | 12,000 [ 1 12,000 10,800
75 |RE2NE M 0E=0| X[FE XHLAE 2l 198 12,000 [ 1 12,000 10,800
76 |&Fes 8= 24 MH3A 40l STFL O | 10000 1 10,000 9,000
77 |Hel, EFEE| Xt =Ry ZEXEA 12,000 | 1 12,000 10,800
78 (W 7t £ SLE 0138 | 10,800 | 1 10,800 9,720
79 (W ®Zo HE dadA AAHE 10,500 [ 1 10,500 9,450
80 |Hk St=RLIZ|of o|=0| 2E| 12,800 | 1 12,800 11,520
81 |3tz 7| Z2HE azlg] =ots | 12,500 | 1 12,500 11,250
82 |(Cigldf £l ZHHIo| AR 13,000 | 1 13,000 11,700
83 (23 & Hi = 7| otAE0t0lH 12,000 | 1 12,000 10,800
84 |HIC Ml ALEE, M EL| FA S E2[0F 2JASFLIO | 16,000 [ 1 16,000 14,400
85 |CH&:lef ote ot N R 22,000 | 1 22,000 19,800
86 |=Z7|0|M 2|8 327HX| ez OFO| M| 2 12,000 [ 1 12,000 10,800
87 |+ 7hel & S|Z ChLEZH|SHEIEEAL | 11,000 | 1 11,000 9,900
88 |Lhdzt & ot2| =E2{st2 2020 14,000 | 1 14,000 12,600
89 |SAIY EEsks AAHE 13,000 [ 1 13,000 11,700
90 |H22z = b= ¥ 10208 2 B F22 YAHEA 12,000 [ 1 12,000 10,800
91 |OtEAEIE EHL el A2|A0rA QIC|OF X IAISFL O | 12,000 | 1 12,000 10,800
92 |OHY st oSt QG | 2280 13,800 [ 1 13,800 12,420
93 |OFX|SH 2 adF | 10,800 | 1 10,800 9,720
94 |OHEICE 2YE & Z[ASFLO | 13,000 | 1 13,000 11,700
95 |HHHE I|SAIA BT 22l SEHUES EES 12,000 | 1 12,000 10,800
96 |Ol2i7t 2Lt Al ddzt g3t 15,000 | 1 15,000 13,500
97 Aol ofglol BIEH 17~19 g4 ofo| 7 ™ 39000 1 39,000 35,100
98 |Ot#el &=&0t2| 1~9 47 SHAMTE LER 128200 | 1 128,200 | 115,380
99 |22 MES ARSI S LT =Z|H| CHAEOJ2I0] | 15000 1 15,000 13,500
100 |HHE Hiols S22+ 15000 1 15,000 13,500
101 |EBS £S0{8H O3 A ™ 10H == EBS BOOKS | 122000 | 1 122,000 | 109,800
102 |HIZEUN 3HME laxold |ZHAZ 43500 1 43,500 39,150
103 &z AE M=o H| &4 15000 1 15,000 13,500
104 (Ot E ZFotzt 2YEE  [AMSFUO [ 12000 1 12,000 10,800
105 [E7[arstRE ZefL|1~2 M HE Atz 24000 1 24,000 21,600
106 |St=21F HEEfat "k A 2asF EfELXE | 11000 3 33,000 29,700
107 | & Q3H7| CH{=EEtA} 15000 1 15,000 13,500
108 |77t& g OfO| =it imSAFL 13000 1 13,000 11,700
109 |EH It &8+ 42t HI & A 15000 1 15,000 13,500
110 [O|A|2] HO| CHEH 1~10M E HFAIA Ot2 5 122000 | 1 122,000 [ 109,800
111 (92 FRH FEZE Hiol= CHAFOJZIO] | 14000 1 14,000 12,600




112 |Hel oA E0f L7t TS24 oFA| =t AH LS 14500 1 14,500 13,050
113 |=0|3 A2 00| 12ME JETS oa|stn 29000 1 29,000 26,100
114 |0{E2 o & Hof SAEL O|%H zes4 12,500 [ 1 12,500 11,250
115 (KMlegds 4% 0|23 H|E A 13,000 | 1 13,000 11,700
116 | = S21714 7 H| &4 13,000 [ 1 13,000 11,700
117 (&7], W =74 e e H| &4 13,000 [ 1 13,000 11,700
118 B AHEHE O|X|= H| &4 14,000 [ 1 14,000 12,600
119 |HZ A} OfHHI K A1 kelps ZPLEETAL | 15,800 [ 1 15,800 14,220
120 |H2 A} OfHHIK A2 kelp s ZPLEE AL | 15,800 [ 1 15,800 14,220
121 |Ltel =7|=H| d=d LI HO[XL [ 18,000 | 1 18,000 16,200
122 |FetME Al2l=(1~33) a3d HYE2XH 54,000 | 1 54,000 48,600
123 |tHE Bt 2|0 H= O 20| of 7t &4 | A YT SFFA0Y 14,800 [ 1 14,800 13,320
124 12024 Z =20+ 7}0|ES LtRel 2 (2 QIAEQ 27,000 [ 1 27,000 24,300
125 [A7]= @|Ha(1~33) L0|OkA RCHMOEI0f | 42,000 | 1 42,000 37,800
126 |=5TE ot0 A0t A= =580l B QAAEO 18,000 | 1 18,000 16,200
127 |AtO|RH ZhEtALLH, 2l= 25 EO|C} ozl 22 |gf202 17,500 [ 1 17,500 15,750
128 [HBA &= & 7FA| 2tHE AFTHELOf| = 16,800 [ 1 16,800 15,120
129 (29 HAR SCHA3 a8 U=EHS2A 14,000 | 1 14,000 12,600
130 [2|H{&O| B E22 (ChikAygl 15,000 [ 1 15,000 13,500
131 |MIO|A 0|5 F ez 15,000 [ 1 15,000 13,500
132 € & XMZES DL faigkel O{ZIO|LtEH 14,800 | 1 14,800 13,320
133 (€ &, =0 & Tt kel O{ZIO|LtEH 14,800 | 1 14,800 13,320
134 (€ & =SULME LI M| O{ZIO|LtEH 12,000 | 1 12,000 10,800
135 (€ & =HZE S DLt {43 O{ZIO|LIEH 13,000 [ 1 13,000 11,700
136 |€ &, A7| €S THLCE g2d O{ZIO|LIEH 13,000 [ 1 13,000 11,700
137 € &, WXLE oot z[o1E O{ZIO|LIEH 13,000 [ 1 13,000 11,700
138 € &, &=X|E DLt 859 O{ZIO|LFE 13,000 [ 1 13,000 11,700
139 (€ & YHELS DL 859 O{ZIO|LIEH 14,800 [ 1 14,800 13,320
140 |=#ol E2A RASIRE (M= 25,000 1 25,000 22,500
141 [ohet2 2= 38 &5t 1~3ME AN B ZEA|2M|OF | 49,600 1 49,600 44,640
142 |HOA S2{F= THEret 2 AR HAEHA [ 18,000 | 1 18,000 16,200
143 |=0] &2St= OFO[7t O ZL| Tt Lt 3IOK A 17,500 1 17,500 15,750
144 (222 M| el sefH{THtr] = 28,000 1 28,000 25,200
145 (22 MlCH ZHM SHO|3STX|ASH] 24,800 1 24,800 22,320
146 |52 =AM AXMO| =0t EEZTHAL | 17,500 1 17,500 15,750
147 |1740| ERUCH OHES| 2HotoF & 410 CHS| L H$t 25 16,800 1 16,800 15,120
148 |72l &Y SRR SHLE 12,000 1 12,000 10,800
149 |42 & =29 =sta | 15,500 1 15,500 13,950




10| 2Hof CHot OfF JHQIE A2 Mztol 4 16,800 15,120
Of= 3|0jet 8oz =23 zas4 16,800 15,120
gzl Laf JD. Hia  |SEEE 17,800 16,020
AL e[/t 22 E3 Hieh=0H Kol SHE M 12,000 10,800
d@let = PSETRS =HLIE 19,800 17,820
==24%= 0|5 74 ==XM7t 18,500 16,650
Mool = a3 ZYAESA 18,000 16,200
=9 o2l DASHRE [QERAH 19,800 17,820
of&ol o] 7 a5t =E5M7t 16,800 15,120
0|F otLte HAH dofzt =stas | 16,000 14,400

A 2,877,700 | 2,589,930
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